
Spiel 1 Spiel 2 Gesamt

Spiel 079 15:25 G 1 HARUCKSTEINER Thomas 48 + 49 = 97 O

G 2 SEIBERT Günther 55 + 68 = 123 # # #

Spiel 081 15:43 G 3 RUMETSHOFER Michael 58 + 65 = 123 # # #

G 4 JURKOWITSCH Marcel 61 + 56 = 117 # #

Spiel 083 15:59 G 5 MARTISCHNIG Michael 50 + 60 = 110 O

G 1 HARUCKSTEINER Thomas 54 + 54 = 108 #

Spiel 085 16:20 G 2 SEIBERT Günther 53 + 60 = 113 # #

G 3 RUMETSHOFER Michael 68 + 57 = 125 # # #

Spiel 087 16:36 G 4 JURKOWITSCH Marcel 60 + 62 = 122 O #

G 5 MARTISCHNIG Michael 52 + 58 = 110 O

Spiel 089 16:53 G 1 HARUCKSTEINER Thomas 60 + 53 = 113

G 3 RUMETSHOFER Michael 51 + 50 = 101 # O

Spiel 091 17:09 G 2 SEIBERT Günther 62 + 61 = 123 # #

G 4 JURKOWITSCH Marcel 62 + 54 = 116 O # O # #

Spiel 093 17:28 G 3 RUMETSHOFER Michael 47 + 62 = 109 # O

G 5 MARTISCHNIG Michael 56 + 59 = 115 O

Spiel 095 17:47 G 4 JURKOWITSCH Marcel 59 + 50 = 109 #

G 1 HARUCKSTEINER Thomas 53 + 57 = 110

Spiel 097 18:04 G 5 MARTISCHNIG Michael 53 + 53 = 106

G 2 SEIBERT Günther 51 + 61 = 112 O


